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TRUSTEE'S NOTICE OF saz age: . ]

that certain trust dee
nd_and wife

» recorded
County, Oregon, in b
MWMMXN&XXXX

property situated in said county and state, to-wit:

Lots 5 ang 6, Block 1, Tract No. 1031,

SHADOW HILLS SUBDIVISION #1, in
the County of Klamath, State of Oregon.

Both the beneﬁciary and the trustee have elected to sell the said real Property to satisfy the obligations secured by
said trust deed and a notice of default has been recorded bursuant to Section 86.735(3) of Oregon Revised Statutes;
the default for which the foreclosure js made is grantor's failure to pay when due the following sums:

(1) $11,000 Plus interest at 10

% per annum from 12/15/80 until paid.
gea] Property taxes for tax Years 1981-82 through 1935-86 totaling
1,893.46.

By reason of said default the beneficiary has declared all obligations secured by said trust deed immediately due and
payable, said sumsg being the following, to-wit:

(1) $11,000 Plus interest

(2) Real property taxes fo
$1,893.46.

at 10% per annum from 12/15/80 until paid.
r tax years 1981-82 through 1985-8¢ totaling

the trustee. Notice is further
right to have the foreclosure

truing this notice, the masculine ter, the singular includes th.e
plural, the word ‘‘grantor” includes any the grantor as wel} as any other person owing an oblj-
gation, the performance of which is secured b

y said trust deed; the words “trustee” and “beneiiciary" include their
respective successors in interest, if any.

e December 4 19..

.............................. Y

If the forcgoing is a copy to be served Pursuant to
ORS 86.740(2) or ORS 86.750(1), fill in oppaosite

the name ang address of party to be served, R
75 54.411244. Wlkatm. o Dy pr Qo R,
7 d

28
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STATE OF OREGON: COUNTY OF KLAMATH: ss.

B S

Filed for record at request of the ___ 2]lgr day
of anuary AD,19_87 4 12:06  oclock —P M., and duly recorded in Vol. ____ . M87
of \_Mo_r_:mﬂﬂ\ onPage 1045

Evel Biehn, ounty. C Ic% oz -
FEE  $5.00 By 2 o=




